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g (Function Operations) Sheet 1
1) Ifflx)=6x>-9x +3 and g(x) =x - 1 ; find the following.
i) (é) o i) (g+/)(4d)

2) Iffix)=x>+ x>+ 7 and g(x) = -3x + 8 ; find the following.

) (f . gim) i) (g-/)(-2a)

PREVIEW

i) g(s%) +£s°) Gain complete access to the largest
collection of worksheets in all subjects!

3) Iffix)=10-5xand

4) If flx) =-x*- 14 anc

i) fl-n)-g(-n)
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5) Which of the following represents (7 + g)(9V — 1), IT JIX) = Z X and g(x) = %?

i) 9v i) -9v i) -9v+2 iv) 9v-2
6) Which of the following represents (g . 1)(~c), if fix) = 8 - 9x* and g(x) = -x°?
i) 8c®-9c* i) 9¢’-8c i) -9¢®+8c? iv) 8c®+9c*
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